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Circle the 8™ tree.

ol S

How many circles?

OO0
00O
circles OOO
Q00

o S'pa'fti'a'l_'Réésoh_ingf'f& O_fdi'néiuNUr‘:hber's:'_ e

Look at the patterns. Fill in the Look at the pattern. Fill in the missing
bubble that shows the numbers in number that completes the patfern.

a correct counting pattern.
12,16, ,24,28

m o 82,83,81l,84,85
B o 81 82 83 84 85 Look at the pattern.
o 84 ,81,82,83,85 Circle the shape that completes the pattern.

O
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Choose the number that is odd.

o 701 o 910
53, 55,57, 59, 6l o 5l4 o 344

Circle the number in the middle.

A . -2 | Choose the number that is even.
Fill in the missing number. St
o 4 o Th
755,760, ____, 770,775,780 | o 53 o 85

Draw the next shape in each pattern.

OO0
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_Number Sense and lace Vlue

Which numeral is
the same as six
hundred seventeen?

O

670
6017
67
617

Choose the correct
expanded form for three
hundred fwenty-three.

o 300+ 2+ 3

o 3+ 20 + 200
o 300 + 30 + 3
o 20+ 300 + 3

Choose the correct
word form for 831.

eight hundred thirty-one

eight thirty-one

eight hundred three-one

eight hundred thirty

Number Sense and Place Value

What number is shown

in the place value chart?

hundreds

tens ones

[1[]
|

1]

. " % 8@

What is the value of
27 tens and 6 ones?
o 33
o 276
o 2076
o 213

Which number has 4
tens and 7 hundreds?

o 470
o 104
o 47

o 740
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| Find the missing number. Choose the number Choose the number
sentence that is TRUE. sentence that is
& 233, /255, 265 o 200+15 > 200+10+7 o 894 > 8l4
‘3.
z o 245 O 845 < 800+45 o 489 < 841
8 o 240
T o 60+300+2 > 300+6l o 148 > 184
i o 275
= o 236 o 1,981 < 1,000+564 o 418 > 489
__ nﬂ_“ Mzw?maqq“ﬂms@ 3C3MJM_,+0:+M:® 3c3_u+m_ﬂf _SM. Round each addend to
. © ane _.m_,_ Hﬂc:+ | .+o mn_:mﬂﬂmm en by the nearest ten and
E _ n___,n n,:m_ mw m_: __ Jc:“ > _o. _ then estimate the sum.
-t 1 1 &1 |
£ 70
£ — 38 + 42 =
3|  Fillin the missing number on the number line.
Plot 145 and then round it to the nearest ten by
circling the ten it rounds fo. + =
I T T T M N A T A
I 1t 1 & 1]
150
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Bl select ALL Which means the Complete the fact family for
.rm problems with an same as 6,13, and 7

£  answer of 7. “take 9 from 132

% + =

o

cwl o 11 —4=___ o 9«13

Bl o 7+4-= o 13— 9 b=

B

3] o 2+5= o 9+13 - =

..m o 8—-3=__ o 13 —-9

s _ =
m Use mental math to find the sums. | Use mental math fo find the differences.
9

m 413 + 200 = 716 — 400 =

o 567 + 30 = 378 — 60 =

3

= 917 + 81 = 145 — 140 =

=

§ 154 + 230 = 514 — 210 =
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_ Addition & Subtraction Strategies

Choose a strategy to find each sum and difference.

gies

181
+752

ot

b

_ Addition & Subtraction Strate
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Circle the shape showing two thirds shaded. <<rﬁ.:, mgn:oann ﬁm mcn\wam_,

Put an X on the shape showing four fourths shaded. items are beach balls?
. F=er D[
"
__ _H.m What fraction of the beach
L items are shells?

Four Jn.lm:am sﬁi to share a What fraction of the | __

cookie. Draw lines .+o show rectangle is shaded?

how they can share it equally.
2
-9
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The wildflowers began growing on the hillside. Joshua and his family picked 73 red
wildflowers, 83 yellow wildflowers, and 37 orange wildflowers. How many wildflowers

did they pick?
&
&
@@

There are 56 people at the beach. 29 people leave fo get lunch. How many people are
still at the beach?

~_ ProblemSolving

John rode his bike around the block 15 times on Friday and 22 fimes on Saturday. On
Sunday he rode his bike around the block 47 times. How many more times did he ride
his bike around the block on Sunday than on Friday and Saturday combined?

~ Problem Solving
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Find the sum or difference on each side of the | create g true equation using
= sign. Then circle T for True or F for False? the numbers in the box.
o 13+7=12+8 TorF
m ................................................................... + = +
B 25 + 25 =50 — 0 TorF
q lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll
o 70-50=10+20 TorF
! [ 31, 24, 13, 6
14 +16 =15 + 13 TorF
Find the missing number to make each number sentence true. @
" 15 + 20 = 25 +  —20=90~ 40
B
i
Z 14 + 16 = + 15 60 — =48
77 = + 43 12 + =42 + 0
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Look at the divided groups. Write the addends | Draw to show an EVEN number
shown, find the sum and determine if it is divided into 2 equal groups.
ODD or EVEN Write the number sentence.
g ; ; ” :
> O000000 00000000
5] 000000 00000000
Q. :
+ + = | + =
Circle .\ Circle \
QDD or EVEN m ODD or EVEN + =

There are 4 rows of cookies with 3 cookies in each
row. Which array shows the cookies?

00O ONONONS. Q000

Look at the array. What
{multiplication fact is shown?

29993 | £33 8888 gg8s
00000 000 0636
OO0000 Six cars left the school. Each car had three people

in it. How many people left the school? Draw to
prove your answer.

“* Equal Groups: Multiplication
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Measure the toy boats using the
inch rulers.

L

Measure the strings in centimeters. How
much longer is string A than sfring 87

.—m / - mmEmn .\ b—.
@
= T LT T T TTTT11 [T T T T IT T 1]
R 1234567881011 1234567891011 [ I I 1 [ [ I ] ] [
rnlu , k 1 2 3 4 5 6 7 2 9 10 11
& | What’s the difference between the length
2 | of the longer boat and the shorter boat? B e
inches
_ L
12 3 4 5 6 7 8 9 10 1
What’s the length of both boats together?
inches String A is cm longer than string B.

T

‘Measurement Problem Solving

Doug has two jump ropes.
The red one is 72 inches long.
The blue one is 48 inches
long. How much longer is the
red one than the blue one?

Kevin measured the length of his classroom and the
playground. The classroom was 20 feet long and the
playground was 68 feef long. How long are the
classroom and the playground combined?

inches longer

Arthur was measuring his two shoestrings. Each was 12
inches long. How long were both shoestrings together?
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Amy got to school 15
minutes after 8. Draw
the hands on the clock
and the time, including

The class went to lunch
25 minutes after 12.
Draw the hands on the
clock and the time, and

I I

ime

AM. or P.M. A.M. or P.M.

‘Measuring T

What day of the week is April 18?7

[

Which days will take place 5 times in the month of

- Draw hands on the clocks Aepril
e— . » un. A Tues. ed, , i at.
& and write the times. Sun. [ Mon. | Tues. | Wed | T | Fri. | Sat
T !
.m. half past 10 2 3 4 5 6 7 8
KR 9 10 1l 12 13 14 15
SO 16 7 18 19 20 2t 22
2 23 24 25 |26 27 28 | 29
m 30
=
£
R
-
o
B 4]
SR
=

April? and
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" Counting Money

What is the value of two $1 dollar bills, two quarters, four dimes, and seven
pennies? Draw and count on to find the total amount.

Rusty went to the store and bought
milk for 85 cents and candy for 50
cents. How much did he spend?

Kirby bought a lollipop for $0.25. He
gave the cashier $1.00. How much
change will he get back?

* Money Problem Solving
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What is the name of What shape has 6 What figure has
this shape? sides? Draw the shape 5 vertices?

and write the name.

o square

o ftriangle

 Geometric Reasoning

o hexagon
o pentagon

| Which shape has curved Which shape is not a quadrilateral?

g sides and zero edges?

.

o o circle

L o rectangle

2 o friangle

o

L o octagon
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: Maggie took a survey of her family and friends. She . +

| used a tally chart fo keep track of her data. Fill in Favorite Vacation

| the bar graph to match the data Maggie collected. | %

i

o beach TR - -

T mourtans_ [THLTHLTICHLTETRE | |

__ mo _.” ?mam. park ._.._1_,_,._.._:_,_,% 15

5 cruise HHHH 10

o

@ | How many students were surveyed in all? °

T eac mountains theme cruise

o How many more students chose beach than a et + park
cruise?

: Study the pictograph and answer

| the questions. Sea Animals at the Aquarium

8| Which animal has an odd number? sharks =07 P U P

.”___.m : clownfish | =25 =

oo

.m, How many sharks and eels are at sea horses | I P> T I

m the aquarium all together? eels P>

Key: p="> = 2 animals

Which animal has the least?
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